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[1]

i) Give the contrapositive of the following statement:
It is raining only if the sky is cloudy.
ii) Show that the statement (pAq)A~(pVvq) 1isa contradiction
without using the truth table.

[2]
i) Write the negation of the following statement:
It is not true that it is raining or it is not snowing.
ii) Prove that: if A — B and B— C are tautologies, then A > C
is also a tautology.
[3]
i) Determine a disjunctive normal form for the given Boolean function:
q(x,y,2)=x'V(y A z)
ii) Determine whether or not the following argument is valid:
p—>q
q—(rv~s)

pPAS

r

[4] Design a logic circuit that inputs the values of three variables X,y and z
and outputa 1 ifandonlyif x=y
(using Karnaugh Maps to simplify )

Good luck Dr. Mirvat El-Sharabasy
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i) d2y +34y +2y= eX + 9sinx +8
dX2 dx
(14 marks)
ii) xy ( 1+Iny)dx+(x+3)dy =o0
(6 marks)
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i) y' = y+2 + tan( y+2) (10 marks)
X +1 X +1
i) dy (x2 y3 + Xy) = (10 marks)
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Mansoura University NS First term 2011-2012
Faculty of Science &5 Time Alowed Two Hours
Mathematics Department Subject Computer Science 2 Date 15-1-2012
Math and COMP SC programs course code Math241 Full marks 70
Answer the following questions: ( Calculator not Allowed) (14 marks each queations)

1- Write a C++ program to calculate Fubanaci numbers Xn, n=1,2, ...,1000
Xn+1: Xn+X n-1» onla ) X1:1, n=1>2v--

2- Write a c++ program to read the coefficient a, b, ¢ and to solve the quadratic
equation a X2+b X + c=0

3- write a program generate 100 random values X, between 0 and 100 and calculate
N

. . , "X,
the mean x and standard deviation sd using the equation y = —;i—— ,
N-1
; (X, - )2
Sd — Zl=0 'u
N-1

4- Write a C++ program to read the elements of the two matrix A and B and
calculate C matrix where C=A*B and

1 2 3 3 1 3
A=|-1 0 3landg =|-1 0 =2
7 4 1 0 4 1

5- Write the output of the C++ function:
int main() {

intm=38, n=5¢

cout<<m<<"+"<<n<<"="<<(m+n) << endlt
cout<<m<<"-"<<n<<"="<<(m-n)<<endl
cout<< " -"<<n<<"="<<(-n) <<endl
cout<<m<<" *¥"<<n<<"="<<(m* n)<<endlt
cout<<m<<"/"<<n<<"="<<(m/n)<<endlt
cout<<m<<"%"<<n<<"="<< (Mm% n) << endl¢
return O¢

(")

Best Luck




